Scan-Conversion ldea

Problem 01: Prepare a Raster of size (11 x 8)

Problem 02: Plot the pixels (3, 2), (3, 3), (3, 4), (3, 5), (3, 6)
Problem 03: Plot the pixels (2, 2), (2, 3), (2, 4), (2, 5), (2, 6)
Problem 04: Plot the pixels (2, 2), (3, 3), (4, 4), (5, 5), (6, 6)
Problem 05: Plot the pixels (2, 2), (4, 4), (5, 5), (6, 6), (7, 7)



Scan-Conversion

Plot the points (3, 2)

(3,3),(3,4), (3,9),(3,6)

Raster 11 x 8
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Scan-Conversion

Plot the points (3, 2), (3, 3), (3, 4), (3, 5), (3, 6)
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Scan-Conversion

Plot the points (3, 2), (3, 3), (3, 4), (3, 5), (3, 6)
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Scan-Conversion

Plot the points (3, 2), (3, 3), (3, 4), (3, 5), (3, 6)
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Scan-Conversion

Plot the points (3, 2), (3, 3), (3, 4), (3, 5), (3, 6)
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Scan-Conversion

Plot the points (3, 2), (3, 3), (3, 4), (3, 5), (3, 6)

i
—i
o

000000005
9990000/
9990000/
99900000)
99900000%
900909002
g

»

00)

90 ' 0 . o
900000008
90000000%

999999999



Scan-Conversion

Problem 03: Plot the points (3, 2), (4, 2), (5, 2), (6, 2), (7,2)
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Scan-Conversion

Problem 03: Plot the points (3, 2), (4, 2), (5, 2), (6, 2), (7,2)
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Scan-Conversion

Problem 03: Plot the points (3, 2), (4, 2), (5, 2), (6, 2), (7,2)

i
—i
o

000000005
9600000
9600000
96000000}
960000 of
gesese ol
99000000

999999999

»

00)




Scan-Conversion

Problem 03: Plot the points (3, 2), (4, 2), (5, 2), (6, 2), (7,2)
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Scan-Conversion

Problem 03: Plot the points (3, 2), (4, 2), (5, 2), (6, 2), (7,2)

i
—i
o

000000005
9000000
9000000
999099, |
90000050}
900000 of
900000 of
99000000.

999999999

»

00)

N~




Scan-Conversion

Plot the points (2, 2)

(3,3), (4,4), (5, 5), (6, 6)

Raster 11 x 8

i
—i
o

00000000k
5L 8

9600000

9600000
96000000}
0000000!
9e000000]
99000000

999999999

»

00)




Scan-Conversion

Plot the points (2, 2)

(3,3), (4,4), (5, 5), (6, 6)

Raster 11 x 8
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Scan-Conversion

Plot the points (2, 2)

(3,3), (4,4), (5, 5), (6, 6)

Raster 11 x 8

i
—i
o

00000000k

S5ELLLL
99000000
S5ELLLL
99000000
S5ELLLL
99090000005
0000000

S5ELLLL
00000 o0l
(O -

999999999

»

00)




Scan-Conversion

Plot the points (2, 2)

(3,3), (4,4), (5, 5), (6, 6)

Raster 11 x 8
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Scan-Conversion

Plot the points (2, 2)

(3,3), (4,4), (5, 5), (6, 6)

Raster 11 x 8
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Scan-Conversion

Plot the points (2, 2)

(3,3), (4,4), (5, 5), (6, 6)

Raster 11 x 8
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Scan-Conversion

Plot the points (3, 2)

(3, 3), (6, 4), (2, 5), (8, 6)

Raster 11 x 8
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Scan-Conversion

Plot the points (3, 2)

(3, 3), (6, 4), (2, 5), (8, 6)

Raster 11 x 8
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Scan-Conversion

(3, 3), (6, 4), (2, 5), (8, 6)

Raster 11 x 8

Plot the points (3, 2)
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Scan-Conversion

(3, 3), (6, 4), (2, 5), (8, 6)

Raster 11 x 8

Plot the points (3, 2)
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Scan-Conversion

Plot the points (3, 2)

(3, 3), (6, 4), (2, 5), (8, 6)

Raster 11 x 8
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Thanks



